Combined Graduate Level Examination 2021 Tier - |

Roll Number

Candidate Name

Venue Name

Exam Date 11/04/2022

[Exam Time 4:00 PM - 5:00 PM
ISubject CGLE 2021 Tier |

Section : General Intelligence and Reasoning

Q1 & % ofie & Azt TF O G997 A6 &1 36 TR g g9 # 1'9F 9 Gow & {Aedd 9 S
W HiA G T geir?

5

[6[1]4]2

3

Ans X14
v2 2
X3 5
K43

Question ID : 65497843191
Status : Answered
Chosen Option : 2

Q2 57 Repew @ S FY S & T I (X) F Fewed § (AW H AN TE& L)

Ans
- [

Question ID : 65497842990
Status : Answered
Chosen Option : 2




Q.3 Tl iklae HIUT §, "TURKEY" &Y '76911525" fer@l SITdT @1 39 HIUT §, 'BREATH' 54
foraT smem?
Ans X 1.218526208

X 2.259221197
< 3.251841208
7 4. 259221208

Question ID : 65497843984
Status : Answered
Chosen Option : 4

Q4 T A P13 witg &, ‘B &7 3 Ui 8, '¢* PT 31 g & 3R D' 1 3 umr 8,
Frafafae s &1 u feaar ghm?

8B(4A5)C(99A27)D14A5B (112D 16)
Ans X 1.107

& 2.98
% 3.85
x 4.116

Question ID : 65497842985
Status : Answered
Chosen Option : 2

Q5 I AP BT T HY o RN SeR-TUE W S TR A el 8 Ry uer 3 gerr
&R -TYE UEd eR-UYE A W 21

PDK:QFN::SJQ:?
Ans X 1.ULS
< 2. TMS
25 3.UNT
4. TLT

Question ID : 65497842366
Status : Answered
Chosen Option : 4

Q6 'A% B FTATEF A BB TTTEI
AsB FTAS P A BRTHE R
A@B PIATL B A BHITAEI
'A&B BT E fF A, B ST AEII
TRR%TE&ZSS@V@C %Y §, d FuRiRa ¥ s Moy o 18 82

Ans 2 1.T,CH R
% 2.C, 2P IR I
w3V, zH gl
* 4.7, SH HC B

Question ID : 65497842977
Status : Not Answered
Chosen Option : --




Q.7 fu e Rereal F T 39 SR T wma w5 A Ry guen #F weemEs Qe (7) § W W A g
H

[ [ X u X
| = ?
X A A X
Ans
1. A
[ |
X
) ke
X 2.
n
X
X
X3 4
| |
X
X 4. A
[ |

Question ID : 65497842988

Status : Answered

Chosen Option : 2

Q.8 @ﬁfﬂﬁﬁ‘lﬂmﬁ, * do or die " B 'su ru ko' foRGT ST §, 'let us do it' &Y 'ko mo yo
zu' ToRET ST & 3fR "this or that' @Y 'ga tu ru* foRET SITAT &1 S UTHT H * die’ Y Hd

forar stmem?
Ans 7 1.su
X 2. ku
A 3.
X 4. ko

Question ID : 65497842975

Status : Answered

Chosen Option : 4




Q.9 I fased T 9= B oo &) AEITE T O SHt TR Hafia § o fafafed
TSI-GH P 3 TEIE TP-ga¥ A Walda g1

14 : 450
Ans X 1.31:961
7 2.18:722

% 3.22:490

% 4.30:902

Question ID : 65497843992
Status : Not Answered
Chosen Option : --

Q.10 @“%q%ﬁwﬁﬁﬁagmgﬁqﬁﬁﬁaﬁ@a Aot F werarae g (7) & AW o
|

45, 68, 99, ?, 187, 246, 313
Ans X 1.117

& 2.140
% 3.105
% 4.166

Question ID : 65497842980
Status : Answered
Chosen Option : 2

Q.11 BEWA, B, C, D, E 3R F, T diaM 4 fRGEID,ES 60 m SR HRIF,BH 40 m
U ARIA EF30mIWARIFAB50mTd A 81 C, B 50 m U A g1 AP Hauf
H C BT RIF JId HI1
Ans X 1.30mTd
25 2.50m I
< 3. 40 m gféror
& 4.40 M TR

Question ID : 65497842978
Status : Not Answered
Chosen Option : --

Q.12 IR 3&R-Tg 3T MU €, o A i bl 7 fopeft ave 9 7w € iR Uw eRFa 21 89
ST MER-TYE BT 99 B
Ans X 1.RCN
 2.YJB
X 3.UFQ

* 4.EPA

Question ID : 65497842971
Status : Answered
Chosen Option : 3




Q.13 AT T HY SR fAewul Bt earyde® ¢ | a8 A gU 6w d §f 1S e 9@ g,
U g1 98 AH U A J1d 92 A 7w vdid gidt 8, 99 2% fob fiiw e st § & @i9-
Tn 3 forepd HYA1 1 AIfh® T d AR HaT 8B4 8

DY

P filex, TR 1

o1¢ ff g, TAET T 7
it et e

forep:
1. $© fifer, m=i= €1
I #E ft 7xie, FeR T 21

Ans X 1. %aq e | IR HRaT B

K 2.7 Frspe | SR A E 11 STERY AT
2 3. 31 e SERT IR B

7 4. I FIsH 1| SR IRl B

Question ID : 65497843181
Status : Answered
Chosen Option : 4

Q.14 ﬁqwgﬁm‘ﬁﬁaﬁwgﬁqﬁm olt ¥ geara® g (2) & RIME W 3
TPt B

17, 16, 32, 29, 116, ?
Ans 7 1.111

X 2.81

<371

X 4121

Question ID : 65497843183
Status : Answered
Chosen Option : 1

Q.15 9% WEt fawey g il iy 7y <=t & 30 A & gxifar & fora 0 & 3 3ifieh Wegwizr &
Hig g 31

1. Junketeered
2. Junction

3. Junketers

4. Junketeering
5. Junctures

Ans 7 1.2,5,1,4,3
252.2,53,1,4
753.2,54,3 1
5 4.1,4,2,3,5

Question ID : 65497844606
Status : Answered
Chosen Option : 1




Q.16 37&RT & IH WS PT I HITIE o & 7% gRaen & @it VIl § HAGER fRd weA
TR I 4GdT B YUl B

SP PSTS SPS

Ans X 1.PSSPPSS

@ 2.STSPSTT
2N 3.TSSPTSS
N 4PSTSPTT

Question ID : 65497843178
Status : Answered
Chosen Option : 2

Q.17 fr=ifea feed o1 e yd® oreag= Y iR iy 1Y fawedl & & 39 H&n &1 9uq o3 o
T Uy g (7) P RIM W 31 Fhdl gl

618 42
5157
7 36 61

Ans (7 1.30
K245
¥ 3.25
X< 4.53

Question ID : 65497842984
Status : Not Answered
Chosen Option : --

Q.18 TS fAf3[d B¢ HT #, 'SANCTION' B! 'TZOBUHPM' fraT wirar 8 1 It rer & 'TELEVISE'
B »4 Rrar sem?
Ans X 1. UDMDUHTF

% 2. UDNDWGTF
< 3. SFKGUHRD
« 4. UDMDWHTD

Question ID : 65497843175
Status : Answered
Chosen Option : 4




Q19 37 37 3T &1 ITT L I SHERRT F T F TEU F FelcdT w7 F g B

el
O

LD
.

Question ID : 65497842387

Status : Answered

Chosen Option : 4




Q.20 3y 7Y fowedl & § 39 31eR-99g &1 giHe ol Fufafed yaar & vyas g (7) &
T R 3T FHeT 2l

KMTC, EVOM, OQXG, 1ZSQ, ?
Ans 7 1. SUBK
5 2.8VCK
/< 3. TVBK
5 4.8UCL

Question ID : 65497843171
Status : Not Answered
Chosen Option : --

Q.21 7 gior #r Frifed B % 3EER 'PQ° T @ T &, 99 Y o @nem @ ggvr # RfET vl
il aufe =5

P
595dfncK|

™ xiNontbeb§
x2NoniPepd

xsMoUtbeapad
v« Nontbepé

Question ID : 65497842991
Status : Answered
Chosen Option : 4




Q.22 maﬁﬁﬁﬁm%wgﬁaﬁﬁsﬁmmaﬁz@gms&mmaﬁwm

T ¥ TE FOT GiEd TR Roem?

Ans

Question ID : 65497844002
Status : Answered
Chosen Option : 3




Q.23 7fe faft BT & 90% BT A 621 €, T S TBAT &b 20% P 50% T A a1 g
Ans X 1.54
 2.69
K 3.74
5479

Question ID : 65497842377
Status : Answered
Chosen Option : 2

Q.24 g Y wHiERO B W T & g 51 &) gl #1 siuw | sgern s @niie?
32+24%4+16-64=90
Ans 1.+ 3N -
2.+ 3R x
w3+ 3R+
K 4.+ 3R x

Question ID : 65497843188
Status : Answered
Chosen Option : 1

Q.25 fmr gfRongd & AT FwE g @ ) T TEd, 97 135° Efdvrew s 1 5O 9, 9% 90°
aTATEd A5 §1 R 9 45° aidunad e 8, 3W @i 136° IEw Agr €1 3 aF fw fr &
¥R e

ans o
x 2. aﬁ-‘gqm
% 3. E‘FEH‘UT—‘TI“T:?
X4 3oat-@

Question ID : 65497843997
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q.1 3ifE=m A vl It aR # 100% HHATE® TR A P UFT F AR UGTH $1 & forg
P 7ed 94 & wu # Fruffia fFar g1

Ans X 1.2025-26
% 2.2022-23
7 3.2023-24
K 4.2024-25

Question ID : 65497842396
Status : Not Answered
Chosen Option : --




Q2 i@ § @ F-ar ASPIEs o1 U SE 872

AT ST B C.XeT D. /@
Ans (7 1. A3RDHI
< 2. 50 B
X 3. Fadac
% 4.B 3R C Ml
Question ID
Status

: 65497842398
: Not Answered

Chosen Option : --

Q.3 sl few e o a1 srafyr & widy 1000 S =i W Sfta & vgd 28 A1 & R g
Tt A BRI B U uRyiia frar man 81

Ans X 1. SRNET Y R
X 2. RYAa R
7 3. 7TaeId 4 &R
XK 4. gy HY W

Question ID
Status

Chosen Option :

: 65497843005
: Answered
2

Q4 uddl & Hey § Frafafed § ¥ S19-918 sy w6 8757
I- Udd, T Ufe & Safid 5T g1 9dd § o vft wgd 71
I1-YRT H erTaett vt g &Y Jad qR afera uda yonferl § @ Ta 81
1327 3Rkt # Arde fpfRrmwRY, Sarard! udd ®1 U Serexur 81

Ans X 1. %dd |l
& 2.7Fad | 3Rl
230, 3R
< 4. bad |
Question ID
Status

Chosen Option :

: 65497843208
: Answered
1

Q5 5 9P DI g AT 3P § are RAId Sl &rdr 872

Ans X 1.fayd®
2. 9cad®
® 3. Ve dH
X 4. dD
Question ID
Status

Chosen Option :

: 65497844006
: Answered
1




Qs ¥ bble, PrEERIAN U1 WIReP | o1 TP YT B4l & R arem S iy
Y o (WA ghaK SwErR & e sl
Ans 7 1.3f®
< 2.9
K 3. T
XK 4.29

Question ID : 65497843201
Status : Answered
Chosen Option : 2

Q.7 BISSTIN (Hydaspes) &1 g ford Sl rommail & o & gaim 412
Ans X 1. 95W SR e AG

X 2. TifeRTa SIR a=IeRTA

7€ 3. 3P SR HRTIEHIY

4. bR R dig

Question ID : 65497843211
Status : Not Answered
Chosen Option : --

Q.8 g anft & wari A AN oI BT MRaT-aa o 81
Ans X 1. Wifglergn

2. PRgsT

XK 3. R

X 4. DYHa

Question ID : 65497842994
Status : Not Answered
Chosen Option : --

Q.9 d FARIISIA T faar e &, 5t 7 ardwife s smyfd & R wikige &1 fFafia
AT 82

Ans X 1. TSI Bl A & fow
X 2. fqerfte ot o4 o1 I & g
7 3. Tldl &1 g b & ferw
7< 4.9 7T Y §919 & forw

Question ID : 65497843003
Status : Answered
Chosen Option : 3




Q.10 YRA F YAy # fgue-a Iue $T Uae™ 3@+ o1 fur Tfqer I forar am T
Ans X 1. SmafE

® 2. HAfew
3. Tsfe™
X 4.Ta

Question ID : 65497843015
Status : Not Answered
Chosen Option : --

Q.1 , TTohta Tish At T REPR T B et Ugedt wfgen gfet Ry &1
Ans X 1. IiHaer &dt

> 2. gt gu™
< 3. dad1 Heran
7 4. T T

Question ID : 65497842412
Status : Not Answered
Chosen Option : --

Q.12 frafifEd # § B9 91 e BRas! 2021 ¥ YR & T UG & FU A ST SN2
Ans X 1. T[S

X 2. 9Tge

X 3. eREE

7 4. 3EHIETE

Question ID : 65497843219
Status : Not Answered
Chosen Option : --

Q.13 T IqeHdT WUITeH B Mefid Peal ¢ R Xiaray aa 9d &1 S| $39, gem
TRy S H ThiAd Sl § O SUaR HE W & S/ o g1

Ans 2K 1. P WGB3l
7 2. HER-3MYIRA =g dl
¥ 3. Ry WWwd

< 4. 9™ & I gl Syl W

Question ID : 65497843000
Status : Not Answered
Chosen Option : --




Q.14 FEg TuIC 2021-22 F IR, TWEHR $1 TSI ASTH T FHHT SR T $1 g, o
HTE BT &R TP FEHA U SUIE & 4.5% A FH g AT

Ans X 1.2023-24
% 2.2024-25
7 3.2025-26
X 4.2022-23

Question ID : 65497842998
Status : Not Answered
Chosen Option : --

Q.15 1Ry, Prawae ok Hsrarem Hd e Pafif@e § A e 78 F qe wR@ g2
Ans X 1. U

7 2. et

< 3. ST

K 4. Tfar

Question ID : 65497843007
Status : Not Answered
Chosen Option : --

Q16 I, Tde¥ 2020 H ATt Y1 & SRE B AIFE 3P A FWAT foar 141 ATl
Ans X 1. TR % Afd SIRPTT HeIRAr

7 2. ORd THTH Raul

< 3. 9 R iU IEa

7 4. TSR IRk Rig

Question ID : 65497842407
Status : Not Answered
Chosen Option : --

Q.17 Prag ITTET R Wal & e, el smert gry o1 w-elt 8 I Ser 1 Feled &
Fafafes ¥ & ey wigr & R ity oxfHe 69§

Ans (2 1.l
X 2. JaeHa
X 3. MRS E
2 4. BT

Question ID : 65497843197
Status : Not Answered
Chosen Option : --




Q.18 gl B Gt MR if-rard fRen o1 siftrer i 2009 wvg &1 v siftfam 8 it adf
__ #amgenm
Ans (7 1.2010

%K 2,201
% 3.2012
%K 4.2009

Question ID : 65497844024
Status : Not Answered
Chosen Option : --

Q.19 %nwa?ma'g@wsﬂm%wﬁﬁgwmmﬁmmﬁaﬁ@aﬁﬁmmﬁ
2

Ans (7 1. 3y U
< 2. HgRTE
< 3.
¥ 4. TP

Question ID : 65497844022
Status : Not Answered
Chosen Option : --

Q.20 fo & @ fra SRR & N Tv1e oo 91 fRufe dufaa sRor A8 &) wwdt 82
Ans X 1. 3[FATR

& 2.7

< 3. Uiferar

K 4. Fm

Question ID : 65497844011
Status : Answered
Chosen Option : 2

Q.21 3fie Tqd&Ur 2020-21 F IR, Y FPI (AR AidwIRmI fa=mnd W o8
faferam sAifvet STar &1 Qul-wifere Tiie 9= W g0 farl

Ans X 1. TR¥dsR 2020
< 2. f[d4sR 2020
o7 3. AR 2020

% 4. 3R 2020

Question ID : 65497842391
Status : Not Answered

Chosen Option : --




Q.22 foafafaa # & $19 Wz et gwe ¥ awe 87
Ans 1. R AR

< 2. tidt R |

K 3. gHE Rig

X 4. TEE ST

Question ID : 65497843011
Status : Not Answered
Chosen Option : --

Q.23 YRA & AU F T qrelt Afaur Gy ¥ feat ufgar aew A2
Ans X 1.10

XK 2.12

& 3.15

X414

Question ID : 65497843016
Status : Not Answered
Chosen Option : --

Q.24 fmfafaa & @ {59 e & srdie R T uga werur a+4it?
Ans X 1. Zeqd =T IeE

p R CREIRSER]

7 3. TR XeTgd

XK 4. 3SR P e

Question ID : 65497844020
Status : Answered
Chosen Option : 2

Q.25 Frafafed # 8 fPu yRdta 59 § S sa fear frerm?
Ans X 1. RIS

X 2. P

« 3. UIEH e

¥ 4. Siifg=m

Question ID : 65497843008
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude




Q1 o =T ¥ F TG # 18% W @i W A TR 97 W 2960 R F dwem, & 3% 12% e
gram af Tvg 3,840 # 4 Few &, & A widwe RraeT 82

Ans %1 D40,
<2 15%
3 20%
X4 21%

Question ID : 65497843025
Status : Not Answered
Chosen Option : --

Q2 A v ar 48 RE F Farg & TFar ¥ 3R B W 60 R F woATd = wFar 81 3 12 R @
wh G fAER i & 3 W A T9T Siar §) B W w # 25% faae gew & (Re sk gt
#) I wEm?

iK1 g feT 8 wE
v2 g fea 6 ue
X3 g fem 6 e
Kagfed 45

Question ID : 65497843028
Status : Not Answered
Chosen Option : --

Q3 #fx sec A = I & wafF A <90° &, o PR #r A 7w i

8
34sinA+15cotA
68cosA—16fand

Ans X1 93
<2 19
X3 30
< 4. 38

Question ID : 65497843038
Status : Answered
Chosen Option : 2

Q.4 52, 71, 43, 22, a, 30T b T 3itwa 55 ¥ 37 42, 45, 49, 51, 42, ¢, v d = AHwaT 53 ¥l 3, b, ¢,
iR d =1 sie = B2

Ans X 1. 54
X2 142
<3 71
x4 B47

Question ID : 65497844032
Status : Not Answered
Chosen Option : --




Q5 afy 8, 20 F AR p ¥ K 3, 5, 24 F TFAT g ¥, A (2p + q) F AT A fiFw
Ans 1. 140

X2 90

<3126

<4104

Question ID : 65497844036
Status : Answered
Chosen Option : 1

Q.6 s & v F UF 35 cm N Fwdr 9ol A 40 1 2y Proer i sl R A B wmae 12
em 3T 18 om §1 IR =1 aed ¥ U v VW SR 3A F Sien Shar g, e R S s 20
cm &, @ 3H A T a5 (em #) &% sen?

Ans X1 20.50
<2 18.25
<3 16.25
4. 19.85

Question ID : 65497844040
Status : Not Answered
Chosen Option : --

Q7 Fg v v S8 F 2 & S F FE (m H) w9 A, 57 I=@w S FwE 90 m AR G swhw
F @Y 30° FT FIOT T B

Ans X 1. 45
2 180
X3 6043
X4 9043

Question ID : 65497842433
Status : Answered
Chosen Option : 2

Q.8 ACD &, FFw: 3= AC 3t AD W & Rig B 3 E 59 vew § B BE, CD & wemier §1 CD = 8
cm, BE = 6 cm, AB = 5 cm 3i¥ ED = 2cm ¥ Fam: AE 3t BC it oo &1 |9 (em #H) =g FX

Ans X 1.3, 4
v2 4, 25
<3 4,3
X4 25 4

Question ID : 65497844045
Status : Not Answered
Chosen Option : --




Q.9

M x = 4+ V15 & @ (P +3) & A Fw 7
A X1, 72
X2 48
X3 54
<4 B2

Question ID : 65497843031
Status : Answered
Chosen Option : 4

Q10 = fosior s #, TF dur I B FE A B Awa 7 25% B 3R g6 ¢ e e ave we A
& AT ¥ 30% ¥ qTHT F AT H AT F 38% & TE §| Fod A P @IS e Wi
FH $ AT OIfF T #IRE T TES T AR F E A qH?

Ans X 1. 2B 5%
X2 30.2%
<3 20.7%
4 24 6%

Question ID : 65497843226
Status : Not Answered
Chosen Option : --

Q1 s sy e M 7 R N TEM T AT s, Ty F v B aa F BT @ + y) =
A T §7 Sl x HR y weper et §)

Ans %144
X2 70
X3 33
¥4 55

Question ID : 65497843221
Status : Not Answered
Chosen Option : --




TAeilT suss &7 899 99 Fiiaw:

Ans

32+52+12X52-52 -
=i X
11x12—-62
2 3 2
Ans
. 13
147
2 —1 >
14
xa 2
28
9~
X4 29—
32
Question ID : 65497842415
Status : Not Answered
Chosen Option : --
Q.13

fotifre as-are deafier o 2019 3k 2020 F e v TwuE F R Raet § v T oEt
& W F e ¥ Ye0F a9 2019 3R 2020 F o A Fe TEr w2000 R 2400 €

2019 #r gear #, 2020 & SAfAURET (Engineering) & oW fr wear # wfowr 5 @ &4
foreelt 87 (GAeE & & T A% WE)

Perirr T 2019 e T 2020
< 1.10.25%
<2 10.77%

<3 11.77%
<4 10.55%

Computer

Question ID : 65497843749
Status : Not Answered
Chosen Option : --




Q.14 S=ifea ax 716 5 U=t A, B, C, D it E & gansl & ser dear (areht #) it e arew gansit
& FEr (arst ) @ gt g
rw T=T & T =R SR gar §?

Ans K 1. A

Question ID : 65497842232
Status : Answered
Chosen Option : 2

Q15 Fme & f=a & 15% & 4, T caiFa @ 1272 & 2 fn 20w 7he wlen & werH g
m@ru‘é‘rg‘éﬁmﬁ%(zﬁ)ﬁmﬁr%‘?

Ans X1 22.16
<2 2500
3 2040
w4 2425

Question ID : 65497844235
Status : Answered
Chosen Option : 3

Q.16 Iz Fa a2 TEW T B g, TEE 156, 181 K 331 Fr e == W 50w oy # 99T 6
£y

Ans %1 47
2 25
X313
X 4. 26

Question ID : 65497842414
Status : Answered
Chosen Option : 2




Q17 S oaw e s eaw AB §) C sk D & 0% Rig § s AB & gl 3N g7 & TR W 5w &
oo €, 5 2CAB = 42° 3t £ABD = 57° 1 «CAD 3R £CBD & Ardt & Far 3icR (f2a #) 27

Ans 175 3T 105
X2 105 3T 75
X3 81 3T 99
K4 99 3T 81

Question ID : 65497843033
Status : Not Answered
Chosen Option : --

Q.18 frifara o =& & 1800 ol &1 % & wedter aufvar amw §1
et 2 U39 (grades) & e feanfiat fr @, B 3t E & faenew Reaf¥dt fr e & 54 =1

(Grade
8%
GradeA
30%

GradeC
4%

GradeB
27%

i KL ASRE
V2 C AR E
X3 B AR D
X4 3D

Question ID : 65497842435
Status : Not Answered
Chosen Option : -~

Q.19 ofY tan?A+ 2tand—63=0%, R srr ¥ & 0 <4 <Z¢§, @ (2sinA + BcosA) F I HIT
Ans o g 15@
. S
/50
X3 194/50
xa 2

/50

Question ID : 65497844047
Status : Not Answered
Chosen Option : --




Q.20 ALMN &, 2L 3k 2N & aweRereF 112° & Fior o wa=oia o< §| <M =7 A (B &) = 2
Ans 1. A4
X252
X3 80
x4 72

Question ID : 65497843036
Status : Not Answered

Chosen Option : --

Q.21 Ry sie Redoma &7 3ewws w51 vw el a7 F 100 o £ ward (om ) R §osik s
arg foT 9T Wee & 39 51

o wRRE W F 100 ol Y SE Ranr
arar R

3¢
24

5 S0
20 16

130-150150 - 160160 = 170170 - 180180 ~ 130190 - 200200 - 210
S @)

170 cm & FH F=1¢ ST OET FT & B 160 cm ¥ 3#Ew FUg G oret Fr g F v
(T F UF WA OF T F ® T g F:

Ans X 1. 53.7%
X2 73.5%
X3 29.1%
V4 46.3%

Question ID : 65497843043
Status : Answered
Chosen Option : 2

Q.22 v Fifaw I3 a9 FF FRR ST # 9 km/h Fr AT T T Thar ¢ TF 9 e H ann Fr R F
44 km 3 o & Rl RGRw F 35 km H gl T FT FHRaT &1 9% U URT Er R F 33 km
AR urr i Rl fer 7 28 km & g 99 F A Troawr @A (95 A) Fm?

Ans 1. 8
<2 7
X3 6
X4 5

Question ID : 65497844039

Status : Not Answered

Chosen Option : --




Ans X 1. B0
X2 45
73 48
X4 42

Q.23 & geor UhgEy B T W AT 79 § T F4 §1 RS v W wenet svatave we Yaw § S gent o
gt Pailv Q w9 FEEr &1 4TPQ = 42° §1 4PQT =1 AW (felr /) F 87

Question ID : 65497843236
Status : Not Answered

Chosen Option : --

(a+d+c)< 02

Ans 1. 27
K2 28
K3 2.7
X4 +2.8

Q.24 fy a2+ b2 +c* = 6.25 3 (ab + bc + ca) = 052 ¥, & (a + b + ¢) F FT AT &Y, T

Question ID : 65497844042
Status : Not Answered
Chosen Option : --

Ans 1. 2,050
X2 1,960
v 3. 1,850
x4 1,760

Q25 ww Tfr suR & 7§ aliv 1980 i & WAW A fndl F aNw e B 91, Srad 4% TR
=T T TR FUW o S AR (% F, P @S #) fhaen O

Question ID : 65497843027
Status : Not Answered

Chosen Option : --

Section : English Comprehension

Q.1 Select the correctly spelt word.
Ans X 1.Recieive

< 2. Prepair
7% 3. Cansel
7 4. Weird

Question ID : 65497844078
Status : Answered
Chosen Option : 4




Q.2 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Our amusements have little zest if we engage in them in solitude.

B. Friendship increases happiness and diminishes misery.

C. It doubles our joys and divides our grief.

D. When we do well, it is delightful to have friends who are pleased with our success.

Ans X 1.ABDC
«/ 2. BCDA
% 3.DACB
% 4. CBAD

Question ID : 65497842453
Status : Answered
Chosen Option : 2

Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

No sooner did / the child start crying / then the mother / hugged him.
Ans X 1. hugged him
7% 2. No sooner did
#< 3. the child start crying
7 4. then the mother

Question ID : 65497844056
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate synonym of the given word.
Smooth
Ans 7 1.Flat
7% 2. Rough
2% 3. Uneven
75 4. Broken

Question ID : 65497842454
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Computer crime have been in the news since the nineteen eighties.

Ans X 1. has been on the news since
</ 2. has been in the news since
2% 3. has been in the news from

25 4. No substitution required

Question ID : 65497842452
Status : Answered
Chosen Option : 3




Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

A sound that cannot be heard
Ans X 1.Inedible

25 2. Audible
7% 3. Indelible
7 4. Inaudible

Question ID : 65497844076
Status : Answered
Chosen Option : 4

Q.7 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Your name / precedes before mine / in the / admission list.
Ans X 1. admission list

25 2. Your name

X 3.inthe

< 4. precedes before mine

Question ID : 65497843047
Status : Answered
Chosen Option : 4

Q.8 Select the option that expresses the given sentence in active voice.

How many candidates had been interviewed by him before lunch?
Ans ¢ 1. How many candidates had he interviewed before lunch?

7% 2. How many candidates was he interviewing before lunch?
< 3. How many candidates did he interview before lunch?

2% 4. How many candidates has he interviewed before lunch?

Question ID : 65497844059
Status : Answered
Chosen Option : 3

Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The recently hike / in the price of petroleum products / will hit / household budgets
severely.

Ans 7 1. The recently hike
25 2. household budgets severely
25 3. will hit

#5 4. in the price of petroleum products

Question ID : 65497843651
Status : Answered
Chosen Option : 4




Q.10 Select the option that gives the most appropriate meaning of the underlined idiom.
It is good to take into account all the important factors before making a decision.
Ans 2% 1. control
75 2. leave
«/ 3. consider
75 4. select

Question ID : 65497843266
Status : Answered
Chosen Option : 3

Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

A glass container to keep fish
Ans X 1. Atrium

75 2. Vase
</ 3. Aquarium
75 4. Beaker

Question ID : 65497843067
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate ANTONYM of the given word.

Camaraderie
Ans X 1. Friendship
75 2. Companionship
25 3. Amity
< 4. Dislike

Question ID : 65497843063
Status : Answered
Chosen Option : 4

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

It is not worth / having the trouble / to write to him / as he never replies.
Ans X 1. to write to him
</ 2. having the trouble
2% 3. as he never replies

7< 4. Itis not worth

Question ID : 65497842640
Status : Answered
Chosen Option : 1




Q.14 Select the most appropriate synonym of the given word.
Imminent
Ans 7 1. Impending
25 2. Ignorant
< 3. Distant
7% 4. Unyielding

Question ID : 65497844071
Status : Answered
Chosen Option : 3

Q.15 Select the option that expresses the given sentence in indirect speech.

She said, “The stars are shining brightly tonight.”
Ans 2% 1. She said the stars were shining brightly tonight.

2% 2. She asked if the stars were shining brightly that night.
< 3. She said that the stars were shining brightly that night.
7% 4. She said the stars are shining brightly tonight.

Question ID : 65497843056
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate ANTONYM of the given word.
Criticise
Ans X 1.Prevent
2% 2. Forgive
2% 3. Disappoint
7/ 4. Praise

Question ID : 65497843264
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate option to fill in the blank.

Their idea of a holiday ____ at a luxury resort.
Ans X 1.is to relaxing
25 2. is relax
< 3. is relaxed
o7 4. is relaxing

Question ID : 65497843069
Status : Answered
Chosen Option : 1




Q.18 Select the option that expresses the given sentence in active voice.

Trumpets are being blown by the soldiers to announce the victory.
Ans X 1. The soldiers were blowing the trumpets to announce the victory.

2% 2. The soldiers blew the trumpets to announce the victory.
< 3. The soldiers blow the trumpets to announce the victory.

«/ 4. The soldiers are blowing the trumpets to announce the victory.

Question ID : 65497842442
Status : Answered
Chosen Option : 3

Q.19 Select the option that gives the most appropriate meaning of the underlined idiom.

| am working on too many projects. | think | have bitten off more than | can chew.

Ans (7 1. To take on more than one can handle
25 2. To be happy to multitask
25 3. To find work dull
75 4. Not able to finish work

Question ID : 65497843065
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The student apologised the teacher for the delay in submitting the assignment.

Ans X 1.is apologising the teacher
2% 2. No substitution required
« 3. apologised to the teacher
< 4. has apologised the teacher

Question ID : 65497843259
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)

the child’s interest the most. (2) , use different voices (3) each

character or act out various (4) from the story, to bring life to those characters. (5)
out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.catch

< 2. catches

7% 3. caught
7% 4. has caught

Question ID : 65497843051
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)
the child’s interest the most. (2) , use different voices (3) each

character or act out various (4) from the story, to bring life to those characters. (5)
out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1. Either

25 2. Also

7 3.So
2% 4. However

Question ID : 65497843052
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)
the child’s interest the most. (2) , use different voices (3) each

character or act out various (4) from the story, to bring life to those characters. (5)
out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 25 1. with
7 2. for
< 3. from

X 4. by

Question ID : 65497843053
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)

the child’s interest the most. (2) , use different voices (3) each

character or act out various (4) from the story, to bring life to those characters. (5)
out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.sheets

X 2. pages
7 3. parts
2<% 4. words

Question ID : 65497843054
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)
the child’s interest the most. (2) , use different voices (3) each

character or act out various (4) from the story, to bring life to those characters. (5)
out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1. Telling

7 2. Acting
2% 3. Asking
7% 4. Saying

Question ID : 65497843055
Status : Answered
Chosen Option : 1




